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s<Reasons for choosing “False”:

b). {0} is the zero vector space. It only has a subspace which is itself.

f).For example: Let S be the set of all upper triangular 2x2 matrices and A=[(1) i ,

171 -1 11 e 1o
B_[—l 0 ],then A+B-[O 1] €S.But A and Bdon’t liein S.

g).All subspaces of vector spaces contain zero vector .So, their intersection contains
zero vector.
h).We can’t be sure that S spans V.
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s%Reasons for choosing “False”:

c).Not unique!

e).For example:{[1,0],[0,1],[1,2]} spans R2.But it is not independent.

h).For example : lllustration 1 ( page 192 in our text-book): Let P be the vector space
of all polynomials, and let M={1,x,x2,...,xn,...} which is infinite be a basis of P, then P is

not finitely generated.
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scAnswers: T/F/F/T/T/T/F/F or T/T/T.

s%Reasons for choosing “False”:

b).Relative to the different ordered base, we will get different coordinate vectors.
c).It is the same reason of b).

g).There are finitely many possible ordered base for R3.

h).(NOT SURE) There are six possible ordered bases for R3, consisting of the standard
ordered basis of R3(el,e2,e3).



